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Problem quickname: 3302

1) .
- Quick:

3302
What is the middle of these two numbers?

a) 10 and 19 Answer: 12319 = 14.5 b) 6 and 19 Answer: 4 = 12.5

c) 1 and 10 Answer: 1+210 =5.0 d) 0 and 4 Answer: % =2

e) 4 and 17 Answer: # =10.5 f) 1 and 3 Answer: % =2

g) 0 and 6 Answer: &0 =3 h) 9 and 17 Answer: 2517 = 13

i) 0 and 18 Answer: % =9 j) 7 and 16 Answer: # =115

27) Quick:
What is the middle of these two numbers? o
a) 8 and 30 Answer: 530 = 19 b) 20 and 22 Answer: 2522 = 21

c) —21 and —8 Answer: # =—14.5 d) 7 and 36 Answer: @ =21.5

e) —22 and —17 Answer: # =—19.5

f) —28 and —26 Answer: W = =27

g) —34 and —12 Answer: =241=12 = 23

h) —29 and —28 Answer: M = —28.5

i) —13 and —9 Answer: # = —11

j) =30 and —13 Answer: =203=13 — 215

3) Quick:

3302

What is the middle of these two numbers?

a) 66.5 and 79.4 Answer: 2051794 — 72 95

b) 64.9 and 86.7 Answer: S:H80T — 758

¢) —71.6 and —58.7 Answer: = -01=981 — _§5.15
d) —93.4 and —46.9 Answer: =234H=469 — _70 15
e) 29.2 and 39 Answer: w =34.1

f) —77.5 and —6.9 Answer: =509 = 422

g) 53.9 and 71.1 Answer: 2395711 = 2.5

h) 65.4 and 66.6 Answer: w = 66

i) 24.2 and 81.7 Answer: 242;& = 52.95

) —86.1 and —50.8 Answer: —20-1=508 — 68 45
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4)
What is the middle of these two numbers?

a) 38 and 49.4 Answer: 38%494 =43.7

b) 22.3 and 33.2 Answer: w = 27.75
c) 26.6 and 78.3 Answer: % = 52.45
d) 74.9 and 79 Answer: 25 = 76.95

e) 29.9 and 48.3 Answer: % =39.1
f) 18.4 and 92.9 Answer: % = 55.65
g) 34.4 and 93.3 Answer: 3247933 — 63 85
h) 60.2 and 96 Answer: 90290 — 78,1

i) 43.9 and 59.6 Answer: 223996 — 51 75
j) 6.3 and 21.4 Answer: 637;& = 13.85

Good Luck!

www.dw-math.com Page 2

smp-3302-3/HLDB

Quick:
3302



